
SPARE PARTS DRAWING  Re3

20-02-2020 Meywalk 2000 all sizes

Meyland Smith A/S - DK-9800 Hjoerring - T: +45 98 96 19 85 - Email: info@meyland-smith.dk

Meywalk 2000 M, L & S

9.4

9.7

9.3
9.19.8

9.2

9.9
9.8

9.10
9.10

9.5

9.6

8.4
8.5

8.2

11.2

11.3

11.6

10.4

10.3
10.2

10.1

5.3

8.1

8.38.4
8.5

8.2

5.1

5.2

7

4.6

11.5

7

4.3 4.2
4.4

4.1

11.4

6.2

6.4

6.1

6.3

6.5

6.6



Parts List
MATERIALDESCRIPTIONTITLESTOCK NODRAW NOQTYITEM

  Frames  11
S235 Welded frame, Meywlak 2000 S1044006601111.1
S235 Welded frame, Meywlak 2000, M & L1041445115911.1
S235M6 x 20Threaded rod 6774541.2
SteelM6 Ø15 / Ø8,8 x 12Allen screw head419074190781.3
S235DIN 2391 - Ø16 x 3,25Internal hinge bushing1040406155141.4
Stainless SteelØ8Lock washer Starlock capped0114216010-807621.5
Stainless SteelT 1 x indv Ø8,1 x L 26 x 9rev.Compression spring0114204992021.6
S235 Dowel1040635115321.7
Rubber262 x Ø33,5 x Ø60bellow1040856717121.8
  Bottom stanchion complete, Small1044836601421.9
  Bottom stanchion complete, Medium1041715116121.9
  Bottom stanchion complete, Large1041705121521.9
Nylon-6/6 (sort)Aisicomo - Ø35/30,5x24mm - Art no.: 011 301 1120Nylon bushing 4273621.10
Nylon 6/6DBD 35Plastic plug 35 mm. DPD 3521.11
  Swingbars  12
S235 Swingbar, Small1044506601212.1
S235 Swingbar, medium1040845118212.1
S235 Swingbar, large1040695115212.1
S235M6 x 20Threaded rod 6774522.2
SteelM6 Ø15 / Ø8,8 x 12Allen screw head419074190742.3
S235DIN 2391 - Ø16 x 3,25Internal hinge bushing1040406155122.4
S235JRPlate - 3Connection plate, medium 6767443
S235JRPlate - 3Connection plate, large 6767943
S235 Connection rod, Small1044756601523
  Seat frame  14
8.8 FZBHexagon Socket Head Cap Screw  ISO 4762 - M8 x 25 - 8.8 FZB24.1
SteelDIN 9021 - M8Curved washer1041609903044.2
Nylon-6/6DIN 9021 - M8Washer, Nylon 4222244.3
GenericKLEE 20488973Adjustable hand lever GN 300-63-M8-2524.4
Aluminum 6060Roundbar - Ø25Internal height adjustment673546735424.5
  Seat frame welded, S 6623414.6
Steel Seat frame welded, M & L1041395116214.6
  Hand hanger with foam, S1044226602715
  Hand hanger with foam, L & M1049395117215
S235DIN 2393 - Ø19 x 1,5Hand hanger, L & M 6153715.1
S235DIN 2393 - Ø19 x 1,5Hand hanger, S 6700415.1
GenericRolko GR-1250-BO18/19Foam cover, L & M104900 15.2
GenericRolko GR-1050-BO18/19Foam cover, S106900 15.2
Nylon 6/6DPU 19Plastic cap black 19 mm.49619DBU 1915.3
  Bodyring Ø70 std, complete1061005131916
  Bodyring Ø70 flat, complete160101 16
  Bodyring Ø90 std, complete1042205119116
  Bodyring Ø90 flat, complete104221 16
  Bodyring Ø105 std, complete104223 16
  Bodyring Ø105 flat, complete104224 16
  Bodyring Ø120 std, complete104226 16
  Bodyring Ø120 flat, complete104227 16
  Bodyring Ø130 std, complete104320 16
  Bodyring Ø130 flat, complete104321 16
  Bodyring Ø70 with rear stop, welded 6608216.1
  Bodyring Ø70 flat with rear stop, welded1060686609216.1
  Bodyring Ø90 with rear stop, welded 5118816.1
  Bodyring Ø90 flat with rear stop, welded1060686609116.1
  Bodyring Ø105 with rear stop, welded 5117316.1
  Bodyring Ø105 flat with rear stop, welded1060686609016.1
  Bodyring Ø120 with rear stop, welded 6608616.1
  Bodyring Ø120 flat with rear stop, welded1060686608916.1
  Bodyring Ø130 with rear stop, welded 6608416.1
  Bodyring Ø130 flat with rear stop, welded1060686608816.1
Nylon 6/6DBD 25.4Plastic plug 25.4 mm.49675DPD 25.426.2
  Foam tube for bodyring Ø130104913 16.3
  Foam tube for bodyring Ø120104912 16.3
  Foam tube for bodyring Ø105104910 16.3
  Foam tube for bodyring Ø90104909 16.3
  Foam tube for bodyring Ø70106907 16.3
Nylon-6/6OD15/ID6,3 x 5mmNylon bushing 4271546.4
Steel, FZBWasher  DIN 125 - A 6,446.5
Steel, FZBCylinder Head Cap Screw  DIN 912 - M6 x 2546.6
  Upper uprising Ø105 L, set  17
  Upper uprising Ø90 L, set  17
  Upper uprising Ø130 M, set  17
  Upper uprising Ø120 M, set  17
  Upper uprising Ø105 M, set  17
  Upper uprising Ø90 M, set  17
  Upper uprising Ø90 S, set  17
  Upper uprising Ø70 S, set  17
  Upper uprising Ø120 L, set  17
  Upper uprising Ø130 L, set  17
  External cone, set104098 18
8.8 FZBHexagon Socket Head Cap Screw  ISO 4762 - M8 x 40 - 8.8 FZB28.1
8.8 FZBHex Nut  DIN 985 - M8 - 8.8 FZB28.2
S235 Lock fitting for hand bar1040575116628.3
  External cone SRTZK, set 51137/5116818.4
Steel, FZBHexagon Socket Head Cap Screw  ISO 4762 - M8 x 3028.5
  Rear stop complete1041695121819
Nylon 6/6DPD 19 - Ø5,5 holePlug (Custom)1000016721419.1
Nylon 6/6DPD 19 - Ø6,5 holePlug (Custom)1000016721519.2
Steel Allen key, 5 mm.49005 19.3
Steel Allen key, 6 mm.49006 19.4
GenericØ19 x 370Foam tubing for Meywalk rear stop1049016157419.5
S235 Rear stop clamp welded1046575120719.6
Steel, FZBCylinder Head Cap Screw  DIN 912 - M8 x 16019.7
SteelM6 Ø15 / Ø8,8 x 12Allen screw head419074190729.8
S235M6 x 25Threaded rod409314093119.9
  Shank for rump stop complete 51209/5121019.10
  External height adjustment  110
S235DIN 2391 - Ø36 x 2,5External height adjustment tube, S10414667008210.1
S235DIN 2391 - Ø36 x 2,5External height adjustment tube, M & L10414661581210.1
Nylon-6/6DIN 9021 - M8Washer, Nylon 42222410.2
SteelDIN 9021 - M8Curved washer10416099030410.3
8.8 FZBHexagon Socket Head Cap Screw  ISO 4762 - M8 x 25 - 8.8 FZB210.4
GenericKLEE 20488973Adjustable hand lever GN 300-63-M8-25210.5
Aluminum 6060Roundbar - Ø25Internal height adjustment6735467354210.6
  Seat incl. fitting and bolts, S10606551315111
  Seat incl. fitting and bolts, M & L104290 111
Steel, FZBHex Nut  DIN 934 - M6411.2
Steel, FZBWasher  DIN 125 - A 6,4411.3
Generic Seat104061 111.4
S235 Saddle fitting welded10406151169111.5
8.8 FZBHexagon Socket Button Head Screw - Product grade A  ISO 7380-1 - M8 x 16111.6
  Distance pipe complete, Large 51212212
  Distance pipe complete, Medium 51211212
  Distance pipe complete, Small10440866016212
S235DIN 2394 - Ø22 x 1,5Spacer tube L10413261577212.1
S235DIN 2394 - Ø22 x 1,5Spacer tube M 61576212.1
S235DIN 2394 - Ø22 x 1,5Spacer tube S 66008212.1
Nylon 6/6DBD 22Plastic plug 22 mm. DPD 22412.2
  Rear wheel, set  213
 Ø400 x 45Wheel112400U-FK-400x45113.1
8.8 FZBHex Nut  DIN 985 - M12 - 8.8 FZB113.2
8.8 FZBHexagon head bolt  ISO 4016 - M12 x 80 - 8.8 FZB113.3
Generic Rolko - Center wheel cover KN-S-32-12113.4
SteelOD25 x 3,5 x 24 rev.Compression spring, Red, for 80 kg.10429449916214
SteelOD25 x 3,25 x 24 rev.Compression spring, Blue, for 65 kg.10429349918214
SteelOD25 x 3,25 x 22 rev.Compression spring, yellow, for 45 kg.10429249928214
SteelOD25 x 2,6 x 19 rev.Compression spring, White, for 20 kg.10429149917214
  Brakes  115
Steel, FZBCup Head Square Neck Bolt  DIN 603 - M6 x 30415.1
Steel, FZBHex Nut  DIN 985 - M6415.2
  Brake complete M & L, left11090159963115.3 L
  Brake complete M & L, right11090059964115.3 R
  Brake complete S, left10440666021115.3 L
  Brake complete S, right10440766022115.3 R
Nylon-6/6OD20 - ID8,0brake handle4991449914215.4
RubberØ10,5 x 49Break pad 49926215.5
SteelØ9 x 23 x 1,0Pull spring 49909215.6
  Front wheels  216
  Front wheel Ø150 x 32, assembled112151 116.1
  Front wheel Ø200 x 50, assembled112016 116.1
8.8 FZBHexagon head bolt  ISO 4014 - M12 x 80116.1.1
8.8 FZBHexagon Socket Head Cap Screw  ISO 4762 - M8 x 60 - 8.8 FZB116.1.2
Steel, FZBCylinder Head Cap Screw  DIN 6912 - M8 x 55116.1.2
8.8 FZBHex Nut  DIN 985 - M8 - 8.8 FZB116.1.3
  Fork for Ø150 x 32 wheel LG-K-150-12116.1.4
 H=121Fork, assembled011426LG-K-200-46-12-1L116.1.4
  Wheel Ø150 x 32112150R150x32-2-PUS46MEY116.1.5
 Ø198 x 30Wheel, assembled011410R200x30-H3-PU-S-46116.1.5
Steel, FZBHex Nut  DIN 985 - M12116.2
Nylon-6/6Gottfred Pedersen - MB 1073Nut protecter - M12011429 116.3
RubberRolko AWR101S (RAL9005)Bumper Wheel011428 116.4
S235DIN 2391 - Ø15 x 1,5Distance piece bumper wheel10404199023116.5
AluminumØ22 x 10Distance ring 67744116.7

SPARE PARTS DRAWING  Re3

20-02-2020 Meywalk 2000 all sizes

Meyland Smith A/S - DK-9800 Hjoerring - T: +45 98 96 19 85 - Email: info@meyland-smith.dk

Meywalk 2000 M, L & S

16.1.1

16.5

16.4

16.2

16.3

1.7
1.6

1.5
1.3

1.2

1.31.1
15.3 L

15.6 15.5

15.2

15.4

13.2

13.1
13.3

13.4

15.4

15.3 R

15.1

1.8

1.11

1.9

1.10

1.3

12.1

14

2.1
2.3

2.3

2.2

12.2

12.2

15.6

15.5

16.1.5

16.1.3

16.1.2

16.1.4

3
3

16.7


